Lattice Multiplication (D)

Use lattice multiplication to find each product.

4 6 9 6 1 7 5 6
7 1
6 8
0 I
0 5
4696 x 7600 = 1756 x 1815 =
5 2 5 9 7 4 0 6
9 6
3 0
9 7
5 2
5259 x 9395 = 7406 x 6072 =
1 2 8 1 6 9 6 0
6 3
6 2
7 7
7 3
1281 x 6677 = 6960 x 3273 =

Math-Drills.com




Lattice Multiplication (D) Answers

Use lattice multiplication to find each product.

4 6 9 6 1 7 5 6
2 4 T6 4/ 4 0 /To /To /1o 1 4
3,78, 2 3 2 o 1111 5/ 6
> 35 3 6 0 5 14 14 /) g
si, 4,6, 4 6 3,786, 0, 8
0 /10 710 710 7 0 10 710 10 /] 4
6,0, 0, o, 0 W 1 s, 6
0 /10 710 710 7 013 12 /13 /] 5
8, 0,00, 0 8,575, 5, 0
9 6 0 0 7 1 4 0
4696 x 7600 = 35,689,600 1756 x 1815 = 3,187,140
5 2 5 9 7 4 0 6
2 T4 T8 A 2 2770 T3 A 6
4,58, 5,1 a2 4, ol 6
01T 2 A 5 0 10 710 10 1,
o, 5,6 5 7 4,70, 0, o 0
T A4 18 A 1 /12 710 4 A 4
4 51,7 8], 511 o, o/ 8 ol 2
> T 2 A4 s T 10 0 1 1,
o5, 0, s/ 5 6,/ 4,/ 8, o/ 2
8§ 3 0 5 9 2 3 2
5259 x 9395 = 49,408,305 7406 x 6072 = 44,969,232
1 2 8 1 6 9 6 0
0T T4 T0 ) 6 L2 0 10 ) 4
o, 6, 2 8, 6 20,81 71, 8 0
0 1 4 10 7 6 AT A 00,
8, 6, 21 8 6 o0, 2 8l 2l 0
o 1 5 /10 /] 4 1+ N6 /14 /10 1 4
5,79 4, 6l 7 71207 3 2| o
o 1 5 /10 /] 4 A2 10 0 /) 5
s, 71, 4, 6l 7 8,778,718 0
3 2 3 7 0 0 8 0
1281 x 6677 = 8,553,237 6960 x 3273 = 22,780,080
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